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1| BARTE LR | i s 2 13.1 110.45 221 1.9 | 9.60 131 2.8 [11.30 5/ 2.0 | 9.40 11| 40.75 16 N
2 | BARKZEELREE| WA EE 124 10.80; 17|2.4 ; 9.70; 10/2.0 ;10.40; 21{1.4 ; 885 ; 20| 39.75 19 2 "
3| AAREEE LR | PR S 1109 | 9.05 35 1.9 ; 9.30 191 2.0 : 9.95 321 1.5 ; 8.80 21| 37.10 22| BF BFHE 7353 ait
4 | BARKZEEL PR | hE e 1129 11090 16/1.9 | 9.50 18]2.0 i10.50 ! 16| 1.5 | 9.55 9| 40.45 17 32.150 32.200 27.800 92.150
5 | mssmommit | N EARS |2 | 2.4 110.15 26/ 0.8 ; 4.50 27(2.0 10.45 18] 1.5 ¢ 7.40 26| 32.50 26 N
6 | o | B 34 2 13.2 110.95 15/ 1.1 | 5.40; 26|2.0 ;10.15; 28{2.0 ; 8.15 25| 34.65 24 3 "
T | gm0 PR KB 1 13.3 110.00 28 0.00 341 2.0 110.50 16 0.00 38| 20.50 39| BFons BFHE 733 ait
8 | s mmat | R BEK 1122 {1020 24 0.00 | 34|2.0 {10.35; 23|1.0 | 8.20; 24| 28.75 28 31.300 31.300 23.750 86.350
9 b A K 7 1 12.1 {10.05 271 0.2 | 2.90 30(2.0 {10.30 241 0.3 | 3.85 36| 27.10 31 N
10 PP 2 KYh 3Rk 1113 825, 39/0.2 2.60; 31|2.0 {10.45 18/ 0.6 | 6.20; 29| 27.50 30 0 "
11 R A HS 1 (1.1 | 775 40( 0.2 | 3.30 29(2.0 | 9.75 371 0.1 | 2.25 371 23.05 38| BFons BFHE 7353 ait
12 D% ke S TERHEF i ACHR 1 26.050 30.500 12.300 68.850
13 | AT 2 E} 1 ]3.5 (12.40 6| 2.7 i11.10 2| 2.8 {11.15 7] 2.1 110.25 5| 44.90 4 .
14 | nATHRy s bR SF E R 1 13.6 {12.00 11{ 2.5 110.00 8| 2.4 110.30 1 26| 2.0 | 9.75 7| 42.05 8 1 "
15 | mRrsesmsmeg | KA B2 113.2 {11.70 131 2.0 : 9.70 10( 2.4 110.95 8| 1.7 : 9.60 8| 41.95 9| BFwhr BFHE 733 ait
16 | nATsxsmsm s | A 11793 31]10.1 | 2,50} 32{2.0 10.10; 29/0.4 | 4.05; 35| 26.00 33 36.100 32.400 29.600 98.100
17 AL A IR 2 | 1.7 1 9.30 32 2.0 1 9.95 321 0.6 | 6.40 28| 25.65 34 N
18 fi AR eh 24 Mk B 1 1.7 :10.00; 29 2.0 1990 34{0.6 ; 570 ; 32| 25.60 35 4 "
19 AL A Feilr 2R 1| 1.7 {10.20 24 2.0 110.30 241 1.5 | 9.05 17] 29.55 27 BFon BFHE 7353 ait
20 fi AR eh 24 FPAR $l4 1 1.7 {10.00 ; 29 2.0 19707 38{0.6 { 590 31| 25.60 36 30.200 30.150 21.350 81.700
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105 | Gl ey By R 1 13.6 ;12.55 5/ 2.0 : 9.20; 20| 2.8 :10.95 91 2.3 § 9.00 18| 41.70 10
106 | mosmim sk | #)1 A 2 (3.1 ;10.45, 22{2.5; 9.60; 13]|3.4 [11.70 3[ 1.7 830 23| 40.05 18
107 [ s swnsm—msre | Ak B 2| 3.7 112.60 412.6 | 9.60 13( 2.8 {11.20 6| 2.5 {11.35 2| 44.75 5
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109 | AR E e | R o 2 | 4.0 112.75 3(3.1 {11.40 11 4.0 112.75 11 2.6 111.30 3| 48.20 1
110 [ SBREHIR DL | AR B 1141 {13.00 1|1 2.5 {11.00 3(3.4 11090 ¢ 10| 2.7 {11.65 1| 46.55 3
111 | RmRSTRBR SR | A R 1 (3.2 {10.50} 20| 2.5 {10.20 71 2.4 110.90 10{ 2.0 | 9.45 10{ 41.05 14
112 | KERSER 2R | fEe ik 2 13.9 12.30 726 1960 13]2.8 i10.25¢ 27[2.1 { 9.156 1 15| 41.30 13
113 | smertucmmryre | @m Bt 2 | 3.6 10.75 18{ 2.5 {10.00 8| 3.4 {11.65 41 2.1 { 9.30 13| 41.70 10
114 | miswdsemnseste | fEawE | 2 | 2.4 11050 1 20| 1.9 | 7.60 7 23]2.0 {10.70  15/2.0 { 9.40 ¢ 11| 38.20 21
115 | smExsetmaEies | HE e 2 | 3.0 {10.65 19{ 1.2 { 7.20 ; 24|2.0 {10.40{ 21|10.5 | 5.20; 34| 33.45 25
116 | sEkeptmredeg | Adf Ve 2115 930, 32[{1.1 ; 580, 25/2.0  9.90, 34 0.00 ; 38| 25.00 37
117 | BB eh s W Bk 2|12} 8.95 38 0.001 34/2.0 @ 9.55 1 40 0.001 38| 18.50 40
118 | #tlidc gt | fah Best 2 3.5 i12.30 7 2.7 110.80 5[2.0 {10.80 ; 13| 1.5 ; 6.90; 27| 40.80 15
119 | WTEmsLEdER | AR g 2 142 112.90 2| 2.6 110.90 41 3.4 112.30 2| 2.3 11.05 4] 47.15 2
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123 | WTHTSIAR foEke | KR A 1 (3.1 {12.05 10{ 2.5 {10.50 6| 2.0 {10.75 14{ 1.6 | 9.10 16 42.40 7
124 | wosssxmmbzs | R0 g 1]3.2 112.25 9125 9.7 10(2.0 {10.45; 18]|2.0 {10.10 6| 42.50 6




